
Ø 80  i=1,5‰
L=232,5m

Ø 50  i=2‰

L=171m

Ø 40  i=2,5‰

L=120m

KD-46

KD-46

KD-46

KD-47

Ø
 60  i=1,7‰

L=209,0m

Ø
 60  i=6‰

L=151,0m

Ø
 60  i=6‰

L=151,0m
KD-47

KD-48 Ø 30  i=5‰

L=190,0m

KD-49 Ø 30  i=5‰
L=98,0m

KD-50Ø 30  i=3,5‰
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Ø 50  i=2,0‰
L=172,5m
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Ø 30  i=3‰
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Ø

 30  i=11,6‰
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Ø
 30  i=3,3‰

L=130,0m
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KD-53
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Ø

 20  i=50‰

L=11,5m

Ø
 80  i=1,5‰

L=163,0m
KD-53

Ø
 80  i=1,3‰

L=257,5m

KD-53
Ø

 80  i=1,3‰
L=257,5m
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Ø 60  i=2‰

L=155,0m

Ø 50  i=2‰
L=120,0m

Ø 40  i=3‰
L=160,0m KD-54
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Ø
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Ø 80  i=1,3‰

L=198,0m

Ø 60  i=
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Ø 
50

  i=
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30
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‰

L=
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m
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Ø 40  i=2,5‰L=130,0m
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-5

8
Ø 

30
  i

=1
4,

3‰
L=

99
,0

m

KD-59

Ø 40  i=2,5‰L=110,0m
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-5

9
Ø 

30
  i

=1
0,
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L=

49
,0

m
Ø 
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7,
5‰

L=
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0
Ø 

30
  i

=7
,7

‰
L=

56
,0

m

Ø 30  i=
3,0‰

L=
71,0m

KD-61
Ø 30  i=3,0‰

L=152,5m

KD-62

Ø
 60  i=2,0‰

L=16,5Ø
 60  i=2,0‰

L=16,5

Ø
 60  i=2,0‰

L=11,5

Ø 60  i=2,0‰
L=165,0m

Ø
 50  i=2,0‰

L=226,5m
KD-62

Ø
 40  i=2,5‰

L=13,5m

Ø 30  i=3,0‰
L=98,0m

KD-64 Ø 60  i=2,0‰
L=92,5m

KD-64
Ø 30  i=3,0‰
L=87,0m


